
y--¥(x+3)_
vertex : C-3,8) g-int : 3.5

✗- int 'seq.a.o.si ✗=-3 (ifay) : see belowdir.of
opaij

' down changes
Domain : ✗=/R from y

'

-

seebelow

Range : yes sketch : •

Maximin : Max, 8 €i#¥
✗- int 's charges:b
0=-1-21×+351-8 ① reftonlhe

-2. * x-axis

[-8--124×+35] ② vet. comp. byafactoroftz
③ hortons. suits left¥+35 ④ vet.trans suits up.

1=4--111-3

-3+-4=-1

x-



p,g)

(x,y )
(p ,q)

7- =a(-1-1-2)>2+8
7- = a +8

'y=-(x+z standardform

y=aÉ+bxtcexpand :
y = - (✗

'

+4×+4) +8
y =

- ✗2-4×-4+8

2=-5-4×+42 general form



x-int-kty-oy.in/---ktx--oy-int:1etx=ox-int:hety--o
0--31×-15-9
t 9-

31CxI5_t_r3-x-1-3tfT-Cx-ijTHT-x@exadx.y
)
(RE)

y=a(x-p)'+q
I =af3 - C- 1)5+2
I = 4at2
- 1=4a
-4 -4 |a=- y=¥(xH
y - int-

→ let#0 x÷nt→6tg=o
FOI 0=-41×+15+2

- 4-

[-2--4*1×+15]
g- 1.75

✗
=-3
,:&} ±⑧=(xHÑ±2Jz=xH

D: ✗ =/R R:yt2 eq.a.o.si -1±h
✗ = - I

# 1-5,10-12 & reviews-quiz
#2

Wednesday/Thursday .


